(ADC32J4X Channel A)

ADC34J)4X
Channel A and D Input

Sheet 2

(ADC32J4X Channel B)

ADC34J)4X
Channel B and C Input

Sheet 3

ADC32J4X /| ADC34J4X
Sheet 4

AMPLIFIER
Sheet 5

LMK04828
Clock Input
Sheet 6

LMKO04828
Inputs & Outputs
Sheet 7

LMK04828
Power & Config
Sheet 8

FMC Connector
Sheet 9

POWER SUPPLY
Sheet 10

POWER SUPPLY
Sheet 11

USB Interface
Sheet 12

%i# TEXAS INSTRUMENTS

[Title:

ADC32JXX/ADC34JXX

Engineer: Chan Ken
PCB: Kim Le

ize

B ADC3XJXX EVM c

D Number rev

ate: Monday, August 04, 2014 Bheet 1 of 12
2 1




DNI this page for ADC32JXX

Cl R3

R2

} " R1 Do Not “U\\N7P SH4
SHARED PAD 1:1 1:1 Do Not S{uff Do Not Stuff Do Not Stuff
a1 1 AIN CHP R215 Do Nt Stuff T2 6
AIN_CH-AP 2 Mg R5 Do Not Stuff i i
Do Not Stuff - Do Not Stuff o Notstu 11pF caps in parallel to avoid stub
o ° Do Not St Install 82nH in high frequency mode
5 2
L6
‘{VCM SH2,3,4,5 Do Not Stuff
4 3 s ff
52 ot Stuff Do Not Stuff Do Not St R10 T o2 o Sy D Not Stuff 100 OHM DIFF
AIN_CH-AM L7 0 Not St
- 2 1 Do NotjStuff
Do Not Stuff R13
S R11 l Do Not Stuff = Do Not Stuff
Do Not Stuff . cs
Do Not Stuff
Do Not Stuff c2 R9 R4 N
= = l; : Rl D0 NGSSAIR m- shHa
- = - Do Not Stuff Do Not Stuff Do Not Stuff
c31 R44 R54
} - R43 Do NotSUiHin P sH4
SHARED PAD r _|
37 L Stuff 1-1 1-1 Do Not S{uff Do Not Stuff Do Not Stuff
DIN_CH-DP Do Not Stuff Do Not Stuff L25 R47 Rag
Do Not Stuff 6 4 3 2 1 Do Not Stuff . .
Boot st o Do Not Stuff Do Not Stuff 11pF caps in parallel to avoid stub
o Install 82nH in high frequency mode
5 5 2
= L30
= , . . o o —VCM SH2,34,5 Po Not stuff
18 C34 C10 100 OHM DIFF
DIN_CH-DM T7 T8 o R49 l Do Not Stuff an Not Stuff
2 Do N i

Do Not Stuff
DNI

R53
Do Not Stuff

l Cc93
Do Not Stuff

l Cc94
Do Not Stuff

Do Not Stuff

R45

Do Not Stuff

R64

R56 Do NSUBINT M sH4

i o
Do Not Stuff Do Not Stuff

Do Not Stuff

ADC34J4X CHANNEL A, D INPUT

%i# TEXAS INSTRUMENTS

itle

ize Document Number

ADC3XJXX EVM

Eheet 2 of 12

Date: Monday, August 04, 2014
2 T




SH5 AMPBINP))

SHARED PAD oNI

J3 % 1 BIN_CHP
BIN_CH-BP

SH5 AMPCINP),

1uF

R217 0 1-1 1:1
ADTL-1WT ADTL-1WT
SMA END LAUNCH | R216
0 S 5
= DNI
2 5 5
3 4 6 © )
J4 gg 1 BIN_CHM R21
BIN_CH-BM [eND 3 .
SMAEND LAUNCH o  SHARED PAD DNI Roa
DNI 5
- Rng _I_c17 .I_c1s
DNI AuF 1uF
SH5 AMPBINMY) = == :
SH5 AMPCINM)
R228
0
SHARED PAD
J5 ) -
CIN_CH-CP 1-1 11
SMA END LAUNCH -, -
o o
2 5 s )
1 ° ° & 4 5
ADTL-IWT i
SHARED PAD ADTLAWT
36 CIN_CHM
CIN_CH-CM _L
SMA END LAUNCH o
DNI

_I_ c74
lluF

K ADCBM SH5

R225
3.24
DNI o
Ci1 R16 R8 0
k R258 3> BIN_P SH4
AuF 49.9 0 SHARED PAD
2 9
39nH 11pF caps in parallel to avoid stub
Install 82nH in high frequency mode
{VCM SH2,3,45 100 OHM DIFF
c6 u
c15
.1uF
R26 1uF
2 L%, 24.9 l
39nH =
C19 R17 R12 0 SHARED PAD
5 o R226 >> BIN_M SH4
AuF 49.9 0
R227
3.24
DNI
c
{ ADCBP SH5
K ADCCP SH5
R232
3.24
DNI T
ca1 R30 0
? R233 3> CIN_P SH4
-1uF 49.9 SHARED PAD
, L7
30nH 11pF caps in parallel to avoid stub
Install 82nH in high frequency mode
100 OHM DIFF °
2 L35 1
39nH
c29 R31 0 SHARED PAD
. R234 >> CIN_M SH4
J1uF 49.9 0
R235
3.24
DNI

KADCCM SH5

ADC34J4X CHANNEL B, C INPUT
ADC32J4X CHANNEL A, B INPUT

%i# TEXAS INSTRUMENTS

itle
ize Document Number ev
B ADC3XJXX EVM c
Date: Monday, August 04, 2014 Bheet 3 of 12
5 | 4 | | 2 1




Local chip decoupling

DVDD1.8V

| car 7| caz

1uF 1uF

o 10V | 10V

car ’J_ms “_‘]_c49
L .
::1—10\/ Jov

1o0v

H
ERTED
2

c50 HJ_c51 “_‘I_csz
. J1uF .
10v TlOV ::[10\/

| ce1 "_']_csz

m
=
£Q

’J_c 3
=.1uF 1uF 1uF dul 1uF 1uF
(:|—10v :‘l—lov (:J—mv NTlov (:l—mv va
ADC CLK
LVPECL AC
(default): LCPECL XFMR
R200, R201 (sh6) 0 ohm 7.5 ohm
R204, R205 (sh6) 240 ohm DNI
R65, R67 50 ohm 50 ohm 100 ohm
R76, R79 DNI DNI DNI
R73, R80 0.1uF 0 ohm DNI
C68, C69 DNI DNI 0.1uF
C66 0.1uF DNI 0.1uF
ADC SYSREF
LVPECL AC LCPECL
(default):
R202, R203 (sh6) 0 ohm 7.5 ohm
R106, R107 (sh6) 240 ohm DNI
R69, R70 50 ohm 50 ohm
R77, R78 DNI DNI
R72, R74 0.1uF 0 ohm
C67 0.1uF 0 ohm
ADC_CLK

SMP_PCB_SMT

19 pegy
EXT_ADC_CLK 2 1
~

TP6 TP7 TP8 TP9 TP10
GND GND GND GND GND

(f BLK (f BLK (f BLK (f BLK (f BLK
L

J_C70 1uF

1uF
ov

SHARED PAD

c43  uF
Provide LVDS to LVPECL L |2—> DAOM SHo 1.8V_LOGIC
(.95vem) DC coupled L1123 DAOP SHY
translation cas o luF, C44 LR cs4 1.8V_LOGIC
|} >> DBOM SH9 AuF
142 >>
DBOP SHY
1T
AVDDL1.8V C46 "~ .1uF = RS0
1.8V_LOGIC
10K
! Uz swi
C53 Do Not Stuff H vce NC —%( —
R57 R58 2 i A o ©
953 {953 ] 2 >> DCOM SHO i RESET Y enD 56 ADC RESET
|=2—> pcoP sHg i
1 i
Do No(zluff H SN74AUP1G14DCK | -O1uF =
SH9 SYNCP 12 DDOM SH9 :
SH9 SYNCM l 1 c57 ' Do Not 5>(Bff = =
| —2—>> DDOP SH9 i
' "bo Not &uff H
R60 < R61 i
105 {105 i
DNI for ADC32JXX ;
= = AVDDL8V
T
e I I B S N 2 DNI for ADC32JXX
DNI for ADC32JXX
Q an ol ao [
TP1 P2 DVDDL8V Q? 358385428828 DVDD1.8V bvDDL.8Y
OVRB e I<L>522000Q90>a02 T
OVRA Whit S 3025602286260 tuff
Do NeUtuff AVDD1.8V A T L AVDD1.8V
z PL R62
E
ovr c (32 OVRC SH9 PDN 10K
SH9 OVRB OVR D |32 OVRD SH9 3
SH9 OVRA DVDD 53— 2
PDN [35—— 1
; - u 32 ;
! Inactive channel on ADC32JXX ADC3XIXX VDD |31 Inactive cgﬁ\‘ngelsgg ADC32JXX SHUNT 1-2
H SH2 AIN_M INP_D l%; DIN_P SH2 =
i SH2 AIN_P AVDD 55 =
{ AVDD
1 INP_C % CIN_P SH3
SH3 BIN_P I INM_C f5e——— CIN_M SH3
SH3 BIN_M & ez AVDD 2
=
DVDDL.8V v« _Soosolick
J<z00¥Y 000G =
QoWO>Jd>W>>0
DHNHOHIOOIXN®!>
R63 < [eolalol<leleal<]
MASTER DUT 1K 1 | JTf >> VCM SH2,3,5
sH12 ADC_sDENE K—2{o oL RESET
IP3
SH12 ADC_sCLK <K 2 =
P4 -
SH12 ADC_splo (K—2{e e}t SYSREF-
PS5
2 1 R52 osg J24
sH12 ADC_SDO <K O] SYSRER+ R69 1 1 @! SMP_PCB_SMT
0 ! EXT SYSREF-
323 R51 49.9 DNI N
SMP_PCB_SMT
R6S R67 EXT SYSREF+ ! o 72 0o«
bR AANN—L (L SYSREFM  SHT
49.9 =
R74 0 ‘(SYSREFP SH7
DNI R77 0
L— AN
o L |}-2 Abciic R73 Cokp s N KSYS_M sH9
6 ACLKP R78 0
1uF SHARED| PAD {svs P SHY
g R76 < YA |
CLK-P SH9
2 5 DNI
§ R79 <
3 4 | ACLKM CLK-M SH9
ADT4-6WT+ DNI DNI ADC
= 1%, ook R8O 1uF
1} < CLKM SH7

% TEXAS INSTRUMENTS

itle

ize

B

Document Number

ADC3XJXX EVM

Date: Monday, August 04, 2014

4 of 12




SH3 AMPBINP))

SH3 AMPBINM,

DNI THIS PAGE FOR ADC34JXXEVM

SH3 AMPCINP)

2 to 3 for AC coupled Vinl

R239
59

*2 to 1 for DC coupled Vin

VAMPC _

SH3 AMPCINM ),

1K @ 100MHz

DNI
R124
499
_ Amp Power Down C
40MHz Bessel Filter
—
PDB 5 =
u14 R268
o 3> ADCBM SH3
= 442
© 2] < ™) o~
]I I R R
. . . o
53 3 3 = 1 c247 L coas
FB- > > > > T T 56pF
13pF
VIN+ our- ptt
THS4541RGY
10 R269 Ls7
VIN- VOUT+ e > ADCBP SH3
442 VCM_AMPB
K 9 T
FB+% ﬁ é (% ;ﬂmcm
> > > > a
w| ©f ~| o | THS4541RGT VCM_AMPB
VAMPB 5 VAMPE »
T R259
ik S>> VCM SH2,3,4,5
b
732 +0.95V
22uF
VAMPI
€209
10nF
40MHz Bessel Filter
PDC
u1s R125 126
oM >> ADCCM SH3
= 442
O n < ™) o
g 4l I 9 o
. . . o
I 8 88 & 1 c205 L co06
FB- > > > > T T 56pF
13pF
VIN+ our- ptt
THS4541RGY
10 R251 L27
VIN- VOUT+ R > ADCCP SH3
442 VCM_AMPC
g
+ + + + & 9
FB+ o & 2 F gmcm
> > > > 3
oo o & o s o VAMPC c c
~| THS4541RGT onl VCM_AMP!
R262
R104
0 11K >> VCM SH2,34,5
732 +0.95V
0.22uF R263
VAMPC 100 C189
onI 10nF

% TEXAS INSTRUMENTS

itle

AMPLIFIER

ize

Document Number

ADC3XJXX EVM

Date: Monday, August 04, 2014 Bheet 5
2 T

of 12




R81 TO SHARE PADS W/ T5

Place close to LMK

> CLKINL_P SH7

R81 0
DNI
310 P9 L LMK CLKIN _R82 18 CLKIN | 6 10 1] clkine
LMK_CLKIND A o )
L]
— R83 R84 2
= 202 202
4 3 CLKINN
1
= = TC1-1-13M+ OLUF
DNI
= c33

MECHANICAL PARTS

k4

T1

i

STANDOFF, FEMALE, 4-40 X 1"
MT2

i

STANDOFF, FEMALE, 4-40 X 1"
T3

k<4

i

STANDOFF, FEMALE, 4-40 X 1"

k4

T4

i

STANDOFF, FEMALE, 4-40 X 1"

MTS

i

STANDOFF, FEMALE, 4-40 X 1"

MT6

i

STANDOFF, FEMALE, 4-40 X 1"

)

SCREW, 4-40 X 3/4", PHIL, SS

)

SCREW, 4-40 X 3/4", PHIL, SS

)

SCREW, 4-40 X 3/4", PHIL, SS

)

SCREW, 4-40 X 3/4", PHIL, SS

)

SCREW, 4-40 X 3/4", PHIL, SS

)

SCREW, 4-40 X 3/4", PHIL, SS

1"

BARE BOARD, ADC32J4X/3434X

3> CLKINI_N SH7

CLOCK INPUT

%i# TEXAS INSTRUMENTS

itle

SHO6 - CLOCK INPUT

ize Document Number
ADC3XJXX EVM

Date: Monday, August 04, 2014 Bheet 6 of 12
T




+3.3VCLK

Place near Vc pin of Y1
RAO R40 and C77 form voltage divider
oa9 Setthe center frequency voltage for PLL2 reference MATCHED LENGTH

cp1
c76 R200 0
68UF C177F_L CLKM SH4
A CLKP SH4 N
I RO O one 75
rod — 7 . SYSREFM SH4
39K SYSREFP SH4
c78 R203 7.5
c79
= 3900pF priaes R107 R205
- P R106, 240 R204 240
240 DNI 240
Place close to LMK RO5 = DNI TSW JESD Interface
620 reference clock w/
as = LVDS levels
U3A
3 R92 0 3> GTX_CLKP SH9
37 CPOUTL 7%
367 CLKINOp CPOUT2 [— Ro3 0
=¥ CLKINOn %0 3» GTX_CLKM SH9
0SCOUTp 27
oscouTn [~ R96 R97
240 240
DCLKOUTO)
DCLKOUTOR NI NI MATCHED LENGTH
SDCLKOUT1p c
SDCLKOUT1n =
R98 0
GTX-CLKP > CAR_SYSREFP SH9
DCLKOUT2p CTX LR
DCLKOUT2n CTAR SYSREF P R99 o JESD SYSREF
SDCLKOUT3p CAR_SYSREF_M | 3> CAR_SYSREFM  SH9
C80 y|_.IuF +3.3VCLK SDCLKOUTSn
1r 4
DCLKOUT4p [ R100, R101
¢ CBLy | 1000F 4 P6 SH6 CLKwLpg g‘s‘ CLKIN1p/FBCLKIN/FINp  DCLKOUT4n —g 240 240
SH6 CLKINI_N CLKINLN/FBCLKINN/FINn  SDCLKOUTSp [ DNI DNI
L cs2 2200pF | XO PWR SbeLkouTen 23 N
L cs3 10pF FB1 +3.3VCLK DCLKOUT6p g = 3
== 120 OHM @ 100MHz DCLKOUT6N P E— CLKOUT_6P C84 ||__.1uF _CLKOUT6P! 1 DCLKOUTEP
) ! SDCLKOUTT7P 735 CLKOUT_6M | SMP_PCB_SMT
SDCLKOUT7n ol -
ﬁg bCLKOUTEp g; c87 1uF _CLKOUT6M 1 =g 14
DNI DCLKOUTSn |35 —“7 DCLKOUT6N
R111 c8s5 & SDCLKOUT9p (¢ SMP_PCB_SMT
Y02 P . _PCB_
H J oscp c86 I 1uF SDeLKOUTon |20 a11d aits ol
+3.3VCLK 100 AuF css 54 240 240 -
R112 OMI DNI rR113  DNI DCLKOUT10p [55 N
& 49.9 uF OSCINP_43 DCLKOUT10n [5g MATCHED LENGTH
ve VDD DNI " OSCINN 44| OSCINp SDCLKOUT11p 57
5 vap| «fPM N — 9 OSCINn SDCLKOUTL1n [~ = 15
NC ouT P S = S 62 CLKOUT 7P c89 AuF_CLKOUT7P | 1 SDCLKOUT7P
B DCLKOUT12p [
Y2_N

GND  OUT_N +3.3VCLK DCLKOUT12n —gg SMP_PCB_SMT
SDCLKOUT13p [—g7 =
CVID-R0.105.000 ") Place close to LMK SPCLKOUTIN - CLKOUT 7 | J16
- c90 AuF__CLKOUT7M 1
R32 |7 SDCLKOUT7N
. 1
Y2 CMOS version OUTPUT on PIN 4 130 LMK04828 SMP_PCB_SMT
DNI R118 R119 = -
R117 co1 ~ -
Yoz N OscN c92 Ay 240 240
o 2
B 100 AuF -
c40
R121 =
R33 -
P 49.9 gtE:tﬁg:ga t R22 0 > CLK_LAO_OP SHY
L ONI ol | o3 0 JESD CORECLOCK
- - R122 R123 3> CLK_LAO_OM SH9
240 240
DNI DNI
{i) | | A
itle
LMK SHO7 - LMK INPUTS & OUTPUTS
ize Document Number ADC3XJ EVM rev
XX C
Date: Monday, August 04, 2014 Eheet 7 of 12
5 | 4 | 3 | 2 1




+3.3VCLK
120

—LluF —L.luF—LO.OluF

P11 - )
SYNC Make sure this line does not hold LMK high
C95 | C9%6 | Co7 O white before LMK can be programmed for SDO
usB
+3.3VCLK 10
VCC1_VCO RESET 5> LMK_SDO SH12
120 17 SYNC (15 < SYNC SH9
VCC2_CG1 CS o < LMK_CS SH12
FB4 120 21 SCK 55 S LMK_SCK SH12
Q VCC3_SYSREF SDIO LMK_SDIO SH12
120 2
- VCC4_CG2 R126 ax
FEs 33 CLKin_SELO |25 2 1 STATO DL
+aaveLK P o S 1uF VCC5_DIG CLKin_SEL1 750 LED GREEN
- c235 c238 c237
a7 ; ; ; L 36 1 vces pLia STATUS_LD1 i; R127 STATO
120 - - - 39 STATUS_LD2 2 1 _STAT1 A D2
& VCC7_0SCout Y50
FB6 120 FB29 4 11 LED GREEN
F L 0.01uF - VCC8_0SCin LDObypL |15 STAT 1
u 1ul .01u FB8 120 LDObyp2 R128
C102 T C103] C104 N 45 | cco cp2 s , 2 1 LMK LOCKED ’ A7 03]
‘20 - 750
120 a7 | o pLi net c105 c106 LED GREEN
+33VCLK .0 - N e 10uF LMK LOCKED
53 16V 10% R129
VCC11_CG3 2 1PLL2 LOCKED N A" D4 |
B 120 64 65 = = 750
g VCC12_CGO DAP B - LED GREEN
PLL2LOCKED -
——1F 1 =
¢ LMK04828

LMK

% TEXAS INSTRUMENTS

itle

SHO8 - LMK POWER & CONF

ize Document Number

ADC3XJXX EVM

Date: Monday, August 04, 2014
T

Bheet 8 of 12




SH4
SH4

SH4
SH4

SH4
SH4

DBOP
DBOM

Dpcop
DCOM

DDOP
DDOM

A
=k 2
A A3 E3
Ae| A4 B
A6 | A5 5 |
A7 | A6 DAOP SH4 —Fe ]
g A7 DAOM SH4 e
A9_| A8 E5 |
AL0 | A2 9|
ALL| A0 E10 |
A All E11 ]
Ats| Al2 £
A Al13 E13 ]
a15| Ald g FMC_SCLK SH12 E13]
Nt A15 FMC_SDIO SH12 ET
AL7 | A16 E16 |
ATg AL7 5 RI30 e E16 |
A9 | 218 750 SH4 OVRB E18
| A0 | AL9 LED GREEN & EL9
A2l | A20 JESD_SYNC = E20 |
A2z | A2L - ) [ E2L |
23 | A22 £22 |
A2 | A28 E23 |
[ A5 | A24 —E24 |
A26_| A25 E25 |
A27 | A26 E26]
p2g | A27 —E57 |
A29 | A28 E28 |
A30_| A29 E29]
A3L| A0 £30
A32 | A3L E3i]
A33 | A32 £33 |
A34_| A33 —E33 |
P e £34
A36 E35
[ A7 | 436 E36
e Es7 |
A39 E38
pa0_| A39 I E30 |
A40 £
Blim .
—55 B2 o
51 B3 =
B5 | B4 g GTX_CLKP SH7 F
B6 | BS GTX_CLKM SH7 5|
B7 | B6 =
—5g | B7 =
B9 | B8 e8]
B10 | B9 Fo ]
511 ] B10 =
51> B1L ooy
B15] B12 i
Bia B13 =
515 | Bl4 gg FMC_SDO SH12 Hs
15| B15 FMC_SEN_ADC SH12 F
517 B16 , R140 7 05 =
B18 | B17 V5o F17]
B19 | B18 LED GREEN F1.
B20 | B19 SPARE_LED1 = F1
B21 | B20 — S e
B2> | B21 27 D7 o]
555 B22 =
521 | B23 LED GREEN e |
Bo5 | B24 SPARE_LED2 = o
B26 | B25 F25
B27 | B26 F26 |
B28 | B27 F27 |
o o o
51| B0 a1 Fa0 |
—E351 B3l
B32 D32 F3
Bag | 832 D33 F32 ]
e | B3 bas =
P—pR3e | B35 -
B36 | B2 D36 F35 |
= - -
[ B3y | B38 D39 F38 |
r—Bao | B39 D39 570 1 F39 |
— B40 D40 [— ’W
CON_SMVT_40x10_ASP-134488-01

E1 G1 ;’%
E2 G2 (&3
E3 G3 G4
E4 G4 &5
E5 G5 Gg—1
E6 G6 &7 CLK_LAO_OP SH7
E7 G7 a5 CLK_LAO_OM SH7
E8 G8 "Gg
E9 G9 610 CAR_SYSREFP SH7
E10 G10 [& CAR_SYSREFM SH7
E11 G11 [&
E12 G12 (& gg SYNCP SH4
E13 G13 [ SYNCM SH4
El4 G14 &
E15 G15 & i FMC_SEN_LMK SH12
E16 G16 & FMC_B5 SH12
E17 G17 &
E18 G18 [G1g
E19 G19 (5o
E20 G20 |-&51 1
E21 G21 (&5,
E22 G22 |-E53
E23 G23 FGoa |
E24 G24 (55
E25 G25 |-E5g
E26 G26 [~&57
E27 G27 |-&ag
E28 G28 [~Gog
E29 G29 =530 1
E30 G30 [—&31
E31 G31 (3,
E32 G32 |-&35 1
E33 G33 [~Gas
E34 G34 (35
E35 G35 |~&35—1
E36 G36 [G37
E37 G37 |&ag
E38 G38 [~G39 |
E39 G39 (a0
E40 G40
R139

H1
F1 H [ 0
F2 H2 55
F3 H3 Ha DNI
F4 H4 Hs
F5 H5 g
F6 H6 [~F7
F7 H7 hg
F8 H8 g
F9 H9 H7g
F10 H10 p1p
F11 HI1 05
F12 H12 75
F13 H13 [r1a
F14 H14 g
F15 H15 HTe
F16 H16 H17 FMC_B6 SH12
F17 H17 rTg FMC_DIR_CONTROL
F18 H18 [
F19 H19 | 423
F20 H20 57
F21 H21 55
F22 H22 155
F23 H23 5%
F24 H24 55
F25 H25 50
F26 H26 157
F27 H27 58
F28 H28 159
F29 H29 30
F30 H30 —p57
F31 H31 35
F32 H32 133
F33 H33 37
F34 H34 i3e
F35 H35 i3a
F36 H36 37—
F37 H37 [y3g
F38 H38 [pi3g
F39 H39 a5
F40 H40 [~

|_SMVT_40x10_ASP-1.

JESD CORECLOCK

JESD SYSREF

SH4 OVRD
SH4 OVRC {{———— 55

SH12

J4o

K40

5> OVRA SH4

>> SYNC SH8 Clock Synchronization

DNI
R131 0

CLK-M SH4

g CLK-P SH4
R132 0

DNI
R135 0

MVT_40x10_ASP-1

34488-01

SYS_P SH4
SYS_M SH4
R136 0
DNI

For use with
Deteministic Latency Testcard

FMC

% TEXAS INSTRUMENTS

itle

SHO9 - OUTPUT - FMC CONN

ize Document Number

ADC3XJXX EVM

Date: Monday, August 04, 2014
1

Eheet 9 of 12




DvDD1.8V

FB14

1kOhm @ 100MHz

AVDD1.8V
FB16

1kOhm @ 100MHz

1.8V

% TEXAS INSTRUMENTS

SH10 - POWER SUPPLIES

ADC3XJXX EVM

[

ev

C

50V IN SVIN
FB11
1 Fé/\/gNl
20 |_| 2 60 OHM @ 100MHZ_L
FUSE 2.0A 63V FAST c123 c12 %25 c126 c127 R147
CONN JACK PWR IﬂuF Izzu»: I | ILOUFI,IUF 1K
= Q1 . - — = = -
CSD18532Q5 = = = o8
TP19 8 1
sy O 7 [ A LED GREEN
PWR
DY ~
MBRB2515L =
P20 H
GND u7
FHnew VIN
= GND 4
s 2{Nc3  caTE
= TPS2400
5VIN
us
133 1uH e
VIN T 1 A2 13
c130 |cia1 EN sw o _
TouF e MoDE vos c1ss o U8 output = 3.0V
.1ul =1 .
> THERMPAD R152 F gzljg L For 1.8V, install R152
127K - -
TPS62080 DNI
Pay close attention to
feedback node in layout
20K
) = 18V _LOGIC
1 kOhm @ 100MHz
1.8V,
P9 P10
SHUNT 1-2 SHUNT 1-2 |
3
2 2
1 3.0V_IN u10 1 .
ci3s _| C137 TPS7A4700 - o.01uF _| 145 5VIN
LOUF——.1uF G139 | C140 | gomwF cia2| cia3 c13 g 1R
: : 10uF : 16 1 uF 5= 1.0uF C144 :
1uF Cc141 157 INL OUT1 (55 25v ATuF 5
= = IN2 ouT2 16v 10w = = 2
e EN SENSE [ — 1
14| \n op1y |2 R157, 0 -
0P2V (51 R158 0
GND 0P4V |— DNI
C146 PWRPAD 0P8V [
1.0uFI 2 NC1 1P6V [ —
tf NC2 3P2V [ -
= - NC3 6P4VL [
BiNCa 6PAV2 [ U10_SENSE
Keep sense line short
VREF = 1.4V P
Document Number
2

B
Date: Monday, September 08, 2014 heet 10 of 12
1




—r

c14s Jf“g
:Emul: ]—O.luF

Pay close attention to
feedback node in layout

R166
20K

6
VIN PG | —
e S L === 13
MODE VoS |
5| GND B _I_c152 o
>~ THERMPAD R163 0 uF ==C154 =
732K I uF
TPS62080

U11 output = 4.0V
For 3.3V, install R163

3.3V_LOGIC
FB30

1kOhm @ 100MHz

JP12 JP13
SHUNT 1-2 SHUNT 1-2
3 3P3V. 3
2 E 2
4.3V_IN 1
€156 TRsTARIO0
cis5

T ™

_LC157 C158
0.01UF| ¢

ClGO_I_ C162 _L
1

Al
C186!

U12_SENSE

Keep sense line short

+33VCLK
L Lo |
ci66 | c167
QL85 — [ ouF== 1uF
10uF
Jogv | v [1ev
+VCC

|
I
o
o
]
£
g
I’o—"
Y
N
&

10uF: 1uF 1.0uF
1uF c159 IN1 OouT1 4TuF
15 N3 oums 287 1ev 25V LoV
18 ey SENSE [
14 2 R167, 0
NR OPIVIIT  Ri68 o
7 0P2V M0 R170 0
c168 21 | GND opav N
A PWRPAD 0P8V
: L 2 net 1P6V
NC2 3P2V
= NC3 6P4V1 ==
NC4 6P4V2 -
I l 47”1
u16 -
c194 | coa2
TPS7A4700 R Tour c24
IN1 OouT1 ;0 16v v 10wy
IN2 ouT2 ‘-—ui
EN seNsE [ -
NR 0P1V -
oP2v .
GND oP4V A
PWRPAD 0P8V .
NC1 1P6V
NC2 3P2V
NC3 6P4V1
NC4 6P4V2

Keep sense line short

Default output is 1.4V+0.2+0.8+1.6 = 4V

3.3V
% TEXAS INSTRUMENTS
* SH11 - POWER SUPPLIES
ize Document Number ev
DNI = DO NOT INSTALL B t ADC3XJXX EVM rc
. I . . Date: Monday, August 04, 2014 ileet 11 of 12




u4-2

SH9 FMC_SCLK 10_1_2/DIFFIO_L1P
5VIN SH9 FMC_SDIO 10_1_3/DIFFIO_L1IN
SH9 FMC_SDO £ 10_1_4/DIFFIO_L2P
4 SH9 FMC_SEN_ADC 10_1_5/DIFFIO_L2N
c109 SH9 FMC_SEN_LMK 10_1_6/DIFFIO_L3P
118 UF SH9 FMC_BS 10_1_7/DIFFIO_L3N
us SH9 FMC_B6 1018
use l 20 [ ool FTDI_SCLK SH9 FMC_DIR_CONTRO 10115
o vBUs - = © . 101 SDO —i> 10_1_16/DIFFIO_L4P
S{GNDL D usebM D1 [>——————RLS00 T R
GND2 D+ — -
8 1enos D L15] yseop b2 2————FIDLSDO 20 | |O_1_19/DIFFIO_LSN
9 | Shos onp |5 c110 | ci11 —51 I0_1_20/DIFFIO_L6P
| GND4 GND 47pF = 47pF 4| eco bs |1 FTDI_SEN_ADC 22 10_1 2UDIFFIO_LeN
——  USB_MINI_AB R142 27| |0_1_26/DIFFIO_B1P
= USBMINL 0 L 8 s pa |2 FTDLSEN vk | 10-1-27IDIFFIO BN
= 19 teeer ps |2_FTDLADC SDIO READ 2 101 29/DIFFIO B2N
33| I0_1_30/DIFFIO_B3P
24 NC2 D6 10 FTDI_LMK_SDIO_READ SH4 ADC_SCLK 34| 10_1_33/DIFFIO_B3N
SH4 ADC_SDENB 35 _34/DIFFIO_B4P
= 27 oscl b7 6 FTDI_DIR_CONTROL SH4 ADC_SDIO 36 _35/DIFFIO_B4N
SH4 ADC_SDO 37| 10_1_36/DIFFIO_B5P
3 P <] 35| 10_1_37/DIFFIO_BSN
3o 10138
17 10_1_39/DIFFIO_B6P
P i e i
AuF 7 éﬁgD RO [ 25 10_1_42/DIFFIO_B7N
8 1.8V_LOGIC 10_1_47/DIFFIO_B9P
51 GND wr P8 ag | I0_147IDIFFIO_BoP
= 55| GND 32 SPI SELECTOR 29 48 |
TEST PWREN FMC = 20 101 50/DIFFIO_B10P
= FT245RL 3 |® 10_1_51/DIFFIO_B1ON
use SHUl!lNT 23 5MB0ZT100
U4-3
FTDI DIR_CONTROL 52
FTDI_LMK_SDIO_READ 53 |10.2.5
1.8V_LOGIC FTOADCS0IG"READ =7 10_2_53/DIFFIO_R7N
e
= 252 ADC gs 10_2_56/DIFFIO_R6P
u4-s R143)R144 J19 18V _LOGIC FTDI_SDIO 5g | |0_2_57/DIFFIO_RSN
22 1K $10K PROG FTDI_SCLK 61 | 'O-2_58/DIFFIO_RSP
™S (55 66 10"
DI (54 TeK 7| 10_2_66/DIFFIO_R4N
TCK (55 5 &5 10_2_67/DIFFIO_R4P
DO ™ 5| 10_2_68/DIFFIO_R3N
A =5 10_2_69/DIFFIO_R3P
43 DI 71| 10
10_1_43/DEV_OE/DIFFIO_BSP (24 75| 10_2_71/DIFFIO_R2N
10_1_44/DEV_CLRN/DIFFIO_B5N [— — 257 10_2_72/DIFFIO_R2P
- 10_2_73/DIFFIO_RIN
SMB0ZT100 145 ;‘; 10_2_74/DIFFIO_R1P
. 72~ 10_2_75/DIFFIO_T10N
SH8 LMK_SDIO o, 77| 10_2_76/DIFFIO_T10P
- SH8 LMK_SCK & 57| 10_2_77/DIFFIO_TON
- SH8 LMK_CS 81| 10_2_78/DIFFIO_TO9P
SH8 LMK_SDO 55| 10_2_BL/DIFFIO_T8N
55| 10_2_82/DIFFIO_T8P
54| 10_2_83/DIFFIO_T7N
55| 10_2_84/DIFFIO_T7P
56| 10_2_85/DIFFIO_T6N
57| 10_2_86/DIFFIO_T6P
58| 10_2_87/DIFFIO_T5N
59| 10_2_88/DIFFIO_T5P
507 10_2_89/DIFFIO_T4N
57| 10_2_90/DIFFIO_T4P
gg 10_2_92/DIFFIO_T3N
56| 10_2_95/DIFFIO_T3P
57 10_2_96/DIFFIO_T2N
98| 10_2_97/DIFFIO_T2P
557 10_2_98/DIFFIO_TIN
To0 | '0_2_99/DIFFIO_T1P
10_2_100

5M80ZT100

1.8V LOGIC
Ly Losic a8V L0GIC Ua-1
veeiol
sl AP cu2 ||_iuF —311 vecior
3.3V L0G vceiot
S cua ||_iuF 0
vceioz
CL17 ]| AuF cu16 ||_1uF 80 1 vecion
c119 ||_.1uF = vecioz
= 13
VCCINT
c120 ||__auF 63 | SOINT
= 5M80ZT100
us-4
10_1_12/CLKO
14/CLK1
T62/CLK2
64/CLK3
5M80ZT100

USB INTERFACE

% TEXAS INSTRUMENTS

itle

SH12 - USB INTERFACE

ize Document Number
ADC3XJXX EVM

Date: Monday, August 04, 2014
1

Eheet 12




